
Segments Divided Proportionally 
Theorems 

 
Theorem 

If a line is parallel to one side of a triangle and intersects the other two 
sides, it divides them proportionally. 
                                                                                                                        C 
Given: ∆ABC, 𝒀𝒁#### || 𝑨𝑩####                                      
                                                                                                     Y      2         4  Z                               

Prove:  𝑨𝒀
𝑻𝑪
=	𝑩𝒁

𝒁𝑪
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